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Tpuronomerpusa
. a a
1. sima=—; cosa=-; tga=—-; ctga=—;
c c b a
(a, b- kaTeThl, ¢ - THOOTEHY3a OPSIMOYTOJIBHOIO TPEYTOJIBHUKA, (v - YTOJI, JIEYKAITHH TPOTHB
KATEThL @).
sin o COS (v
2. tga = ;. ctga = ——.
cos o sin «v

3. tgactga = 1.

4. sin (;T + a> =cosa; sin(m+a) = Fsina.
™ .
5. cos (2 + a) = Fsina; cos(m £ a) = —cosa.
T T
6. tg(zj:oz>—:1:ctga; ctg(Qj:a)—:thoz.

7. sec (72r + a) = Fcosecq; cosec (72r + a> = seca.

2

8. sin?a+ cos’a = 1.

9. 1+tg”a = sec’ .
10. 1+ ctg? v = cosec® av.

11. sin(a &+ ) = sin v cos B + sin 3 cos av.

12. cos(a £ ) = cosa cos § F sin asin f3.

tga +tg g
ctgactgBF1
14. ctg(a £ f) = tgfLtciga”

15. sin 2 = 2 sin «v Cos av.

2 2

16. cos2a = cos” av — sin” av.
2t
17. tg20 = ——>o
1 —tg*a
tg?a —1
18. cthaZCgL
2ctg o

19. sin3a = 3sina — 4sin® a.

20. cos3a = 4cos® o — 3 cos a.
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21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

. a‘ 1 —cosa
sin—| =4/ ————.
2 2
Oé’ 1+ cos«
COS — :\/7.
2 2
; oz‘_ 1 — cos«
&5 " V14cosa’

; a sin «v B 1 —cosa
g2_1+cosa_ sinav
‘ a‘ 1+ cosa
ctg —| =/ ——.
g2 1 —cosa
Q sin «v 1+ cosa
ctg — = = - .
2 1 —cosa sin «
2&

1+ cosa = 2 cos 7

e
1 —cosa = 2s1n2§.

+
sinozj:sinﬁ:2sina ﬁcosa:Fﬁ.
2 2
cosa+cosﬂ:2cosa+ﬁcosa_ﬁ.
2 2
cosoz—cosﬁz—QSina+ﬁsina_ﬁ.
2 2
i +
tga:l:tgﬂ:ism(a 6).
cos « cos (3
i +
ctga £ ctgf = 781_11(6 : Oé).
sin asin 3
1
sinasin f = 5[603(& — B) — cos(a + B3)].

sinacos 3 = ;[sin(a + ) + sin(a — F)].

cos a cos 3 = ;[cos(oz + ) + cos(a — ).

[IpocTeiimue TpUTOHOMeTpHYECKHE YPABHEHNA:

http://math.ournet.md

sinx = a, |a|] <1; x = (—1)"arcsina + mn;

cosx = a, |a| <1; x = tarccosa + 27mn;

tgx = a, x = arctga + mn;

ctgx = a, x = arcctga + m™n

n € 7.
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38. arcsinx + arccosz = g, lz| < 1.
T
39. arctgx + arcctgxr = 5

T
40. arcsecz + arccosec r = 5 |z| > 1.

41. sin(arcsinz) =z, =z € [—1;+1].

2

42. arcsin(sinz) =z, x € [—;T; W} :
—1;+1].

43. cos(arccosr) =z, 1w € |
44. arccos(cosz) = x, x € [0;7]|.

45. tg(arctgx) =z, = € R.

Ly
46. arctg(tgx) =z, x € (—; ) :

2 2
47. ctg(arcctgzr) =z, z € R.

48. arcctg(ctgr) =z, x € (0;7).

2
x _
49. arcsinx:arccosx/l—acQ:arctgﬁ:arcctg , O<z<l1
—x
50. arccosx = arcsin v' 1 2 = arct ks arcct i 0<z<l
. ar = arcsin V1 — x? = arctg —— = ar —_— x .
g . g T2

1
51. arctgx = arcsin = arccos =arcctg —, 0 <z < +4o0.
x

x 1
V1422 V1422

1
52. arcctgx = arcsin = arccos =arctg —, 0 <z < +4o0.
x

1 x
[ arcsin(zv/1 — 42 + yv/1 — 22), ecm xy < 0 wm 22 + 12 < 1;
53. arcsin z+arcsiny = | m — arcsin(zyv/1 — y2 +yv1 —22), ecmax >0, y>0u 22+ > 1;
—7 — arcsin(zy/1 — y2 + yv/1 — 22), ecmm x <0,y <0wm 22 +y> > 1.
[ arcsin(ay/1 — 42 — yv/1 — 22), econ vy > 0 mom 2% +y? < 1;
54. arcsinz—arcsiny = | 7 — arcsin(zy/1 — y% — ym), ecn x>0,y < 0wma?+y? > 1;
—7 — arcsin(zy/1 —y2 —yv/1 —22), ecmx <0,y > 0nm 22 +y> > 1.

arccos(zy — \/(1 —22)(1 —y?)), ecn x +y > 0;
D5. arccosx + arccosy =

21 — arccos(xy — \/(1 —22)(1 —y?)), ectuxz+y<0.
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— arccos(xy + \/(1 —22)(1 —3?)), ecmu z > y;
56. arccosx — arccosy =

arccos(zy + \/(1 —2?)(1-9%), ecma<y.

i arctg Ty , ecim oy < 1;
— 1y
Tty _
57. arctgx + arctgy = 7r+arctg1 o ecain x > 0 u zy > 1;
r+
—7r+arctg1 y’ ecin v < 0umxy > 1.
L —xy
[ arctg i , ecnm xy > —1;
1+ 2y
x_
58. arctgx — arctgy = 7r+arctg1+x?;, ecmz > 0n oy < —1;
-y
—7r—|—arctg1+xy, ectm x < 0w axy < —1.

[ 2
arcsin(2zv/1 — 22), ecin |x| < \g_;
o ' V2
59. 2arcsinr = | 7 — arcsin(2ry/1 — 22),  ecim 5 < <1

V2

—m — arcsin(2zv1 — 22), ecm —1 <z < 5

arccos(2z? — 1) npu 0 <z < 1;
60. 2arccosz =
2m — arccos(222 — 1) mpn — 1 <z <0.

arctg ecan |x| < 1;

x
1 — 22’

2
61. 2arctge = | 7™+ arctg %, ec T > 1;
—x

27

2x
-7+ arctgli ecn v < —1.
-

VI

arcsin 5 ) ecm 0 <z < 1;
62. 3 arcsinx =
o 1=1—2a2
— arcsin S S— ecrmn — 1 <z <O0.
1 1
63. 5 arccos r = arccos —;;E, ecm —1 <z < 1.
V1 2-1
1 arctg —l——x7 ecaim x # 0;
64. 3 arctgx = x

0, ecim x = 0.



